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= & 856,274
= 591,470
= 73,825
= 190,979
& AxANE XA 22,080
= 11,040
= 3,312
= 7,728
QI2tX =201 ™ 22,080
= 11,040
& 3,312
= 7,728
A28 X 22,080
SMEAI 480,000& = 4em’ 22,080
= 11,040
= 3,312
i 7,728
M2 HEESH X 101,760
= 66,530
= 7,046
= 28,184
QI2tX =01 ™ 101,760
= 66,530
& 7,046
= 28,184
I2tHEE2x 101,760
UNSHFESG2 7,940,00020 * 1044 7,940
= 3,930
= 786
o 3,224
MEHESE S CIRCIOHE
48,400,000& * 1JH2 48,400
= 32,320
& 3,232
i 12,848




SN AMEEMT
Mmool AWM Ast
o9 YNSREX (5l &2
SN HY . C(EH) - MRAY - BYS 0ff &+ o4 ggi B2
OYNSHETUC S NETHALINLS
& 45,420,002 * 1042 45,420
2 30,280
= 3,028
2 2,112
USRI 732,434 2,000 730,434
= 513,900
= 63,467
2 155,067
402 QIAT0IH 732,434 2,000 730,434
= 513,900
= 63,467
2 155,067
01 AN=RLZE 732,434 2,000 730,434
OYMSUX BB REHE X2
700,000,008 * 142 700,000
2 500,000
= 60,000
= 140,000
OmAB UK 3,033,4002 * 10CH 30,334
2 13,000
= 3,467
z 13,867
Os=EELUAYN 1,050,0002 * 2Cf 2,100
2 900
2 1,200
ARRS MM BIE Y 102,500 347,950 245,450
= 16,000
= 4,000
2 82,500
AOEE THBHEL X 12,000 24,000 £12,000
= 4,000
2 8,000
402 QIR+ OIF 2,000 24,000 A12,000
= 4,000
2 8,000




S AEEAD
mu: gy Am 2
ot APRIRIS M A BHE A (sl a e
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
01 QUAR=2EX 12,000 24,000 A 12,000
OATHFHE S X =4 12,000,000& = 1ha 12,000
= 4,000
o 8,000
He22 Jlex s 90,500 100,000 29,500
= 16,000
= 74,500
402 QIZEXE01H 90,500 100,000 A9,500
= 16,000
= 74,500
01 QIZEXI22 X 90,500 100,000 29,500
oS WSAMH(FET) X
400,000& * 250ha =* 50% 50,000
OS2 +2FFI| N
2,200,000& = 15CH  50% 16,500
O=AI(H22) MBI X X2
24,000,000 * 1ha 24,000
= 16,000
o 8,000
AT AL 763,108 809,629 A46,521
= 18,340
s 369,581
L= 8,558
= 366,629
A AL 651,976 759,629 A 107,653
= 369,581
= 282,395
401 A& HIL=ROY| 651,976 759,629 A2 107,653
s 369,581
= 282,395
01 A&l 648,674 756,482 A 107,808
Ol AIEAHI] 15,548
ORITAIR AAIEN
458,643,000& * 3.39% 15,548
s 12,438
o 3,110
O[Al & Hl] 633,126




SA: MEFA
= ool Ame 23
£ro): ol & oD CLEE
S . "M . O (5 SALO . HAM 2 Al OH HEE =2}
OAETFZINSSAS (XHAI)
40,000,000& * 1.25km 50,000
oOLE=E 4 (XHAl) 1,000,000& = 30km 30,000
OYUSAH (e A2 1)(XHA)
33,333,300 * 3km 100,000
O MHE(ER)
187,928,571.42& * 0.7km 131,550
s 105,240
= 26,310
OLERZINE(ER)
61,792,765.95&  4.7km 290,426
= 232,341
= 58,085
0B (EX) 4,500,000 * 4.7km 21,150
s 16,920
o 4,230
OYEHXHZEH 5,000,000& = 22 10,000
03 AIZ=0HHI 3,302 3,147 155
O =2UHI(E=X) 458,600,000& * 0.72% 3,302
iy 2,642
o 660
SAFZ2 FH| 111,132 50,000 61,132
= 18,340
& 8,558
= 84,234
401 A ABIZ20HYI 111,132 50,000 61,132
= 18,340
= 8,558
= 84,234
01 A&l 110,582 50,000 60,582
O[Al & dl] 110,582
OsS&=ZH EHAEX
10,000,000& * 24 A 20,000
oStz &l 1,000,000  30km 30,000
OSHZFHI(BEX) 30,291,000& = 29 60,582
= 18,175
& 8,481




S AEEAD
B oo AMe Usl
ool T ALY (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 33,926
03 Al S01bI 550 0 550
O[AIE 2] 550
OS&ZEBIXNEZ NI
61,111,000& = 0.90% 550
= 165
< 77
o 308
AFEEALS 251,143 175,768 75,375
IR 76,487 38,239 38,248
308 AXIEHXMSOIA 76,487 38,239 38,248
05 XXEX2UEE2 76,487 38,239 38,248
OAtH (2 X) 38,243,500& * 200 A~ 76,487
=4 1,050 1,050 0
308 AXIEHSOIE 1,050 1,050 0
05 XNXSHHUAREEE= 1,050 1,050 0
OAteHE=A 1,050,000& * 1002 1,050
Al ate| A 173,606 60,000 113,606
308 XAXISHMISOIA 173,606 0 173,606
05 AXIEHzZtEEZ2 173,606 0 173,606
Oottgl g 1dxd 173,606,000 * 14 173,606
Are THOH & X 586,351 593,267 6,916
= 166,928
< 74,434
iy 344,989
ArS 84X CH 2 449 177 389,296 59,881
= 102,348
= 54,456
iy 292,373
NI R S &HH| 297,868 4,874 292,994
= 102,348
= 54,456
iy 141,064
101 Q14| 245,540 0 245,540
= 81,416




SN ANRYEAD
Zo: s Mol X
g

Cr9l: AE U ) (Sl &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ

101 2124 = 45,037
= 119,087

10 JIZH22XSES 245,540 0 245,540
OMr2 0l B2 3 5,640,0008 * 369 203,040
= 81,216
< 36,547
2 85,277

OMZ0Y H2X3 =& +2

250,0002! * 29I 500
= 200
< 90
2 210
OMSZAR X8 6,000,0002! * 79! 42,000
< 8,400
= 33,600

201 Yste | 32,078 4,874 27,204
= 12,832
= 5,774
z 13,472

01 ARl 32,078 4,874 27,204
OMQIZ ot = 61,7008 * 264% 16,289
= 6,516
< 2,932
2 6,841
ORBIAHE A3HOLH| 4,50090 * 6212 279
= 12
< 50
2 17
OatZ R st S Al 5,000/ * 550%] 2,750
= 1,100
< 495
2 1,155
OMZYT BAR 22 200,0002! * 19 3,800
= 1,520
< 684
2 1,59
Ost2 RS ESH| 20,0008 * 1983 3,960




SA
X XH .
(=

chel:

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
= 1,584
= 713
i 1,663
Ottt no2 ) 5,000,000& = 174 5,000
= 2,000
< 900
i 2,100
401 AIEHIL 2O 7,350 0 7,350
= 2,940
L= 1,323
i 3,087
01 Al&HI 7,350 0 7,350
O¢elst=2 & M A 2,450,0002 » 3ha 7,350
= 2,940
< 1,323
i 3,087
405 KHeHHE SHI 12,900 0 12,900
= 5,160
& 2,322
= 5,418
01 KA ESEH=HI 12,900 0 12,900
OFlHERA 800,000& = 3CH 2,400
= 960
= 432
[ 1,008
OJI Azt et 2 & SHAI A E 3,500,000& * 3CH 10,500
= 4,200
< 1,890
[ 4,410
A0 2el 126,209 128,920 A2, 711
201 et 87,209 89,720 A2,511
01 At 2&cld] 41,200 46,975 N5, 775
O [LEt=&tl] 14,650
outt=0gE RAHI| =M
60,000 * 60CH 3,600
ORH=ES =2 100,000& = 50CH 5,000
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SN MEEMD
M A T
chol: A

i
x
X
.
o
40
o
x
==
i
e
g
0x
Jo
2
z
12
20
>
J2m
o
El
Ol
oy

1,000,00080 * 67H 4 6,000
OFRE2H ASTAI| HLH A&
50,0002 * 1207 6,000
OMZ0Y AMSH L ZFDEAT &X
500,0009 * 10744 5,000
OatZ FoX el 4,400,0008 * 54 22,000
AETGHK =7 5,000 5,000 0
401 AlZHILSOHY] 5,000 5,000 0
01 A& 5,000 5,000 0
OMZUHA THSHN L Felx
1,000,008 * 5ha 5,000
AENY B2 20,100 32,100 A 12,000
201 Ysregy| 7,100 19,100 12,000
01 Atz 7,100 19,100 ~12,000
ONENY B2 Z5IE M
70,0002 + 1004 * 33 2,100
OM20Y B2 g M 8,0008 * 6250H 5,000
401 Al&HILSCHH] 13,000 13,000 0
01 A& 13,000 13,000 0
OME0Y S2UEE 201%I|I|&X
13,000,0002 * 19§24 13,000
AESHHY & KA 6,128 59,696 /53,568
< 1,838
= 4,290
AE0Y YD 1,728 1,096 632
= 518
z 1,210
201 Yste | 1,728 1,096 632
< 518
T 1,210
01 Atz 1,728 1,09 632
Oatz0gZDE 1,50020 * 1,1520H 1,728
< 518
= 1,210
MEXSE Yats 4,400 3,600 800
= 1,320




SN AREAD

LI TSN
ol MU © XA (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
MEXTE Yat= i 3,080
201 Let3| 4,400 3,600 800
= 1,320
2 3,080
01 AtE2teldl 4,400 3,600 800
Ott=2d8stE Y= 200,000& = 22% 4,400
< 1,320
o 3,080
A&l ol S A 126,945 97,040 29,905
= 61,709
= 17,771
i 47,465
A ETe| A 11,993 21,201 A9,208
= 7,290
& 1,411
= 3,292
401 Al &BI=20HYI 11,993 20,271 N8,278
= 7,290
& 1,411
2 3,292
01 A&l 11,993 20,271 N8,278
O£ =0el URFA 399,766& * 30ha 11,993
= 7,290
< 1,411
o 3,292
SR e 2 21,415 29,969 8,554
= 10,707
& 3,212
i 7,496
401 Al 4HIZ=20HYI 19,914 29,158 A9, 244
= 9,957
& 2,987
i 6,970
01 Al&H| 19,914 29,158 NQ,244




SN AREAD

Mo N WA
CHol MEEHE LA (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OsZEZNZH U2FA
871,600& * 20ha 17,432
= 8,716
= 2,615
[ 6,101
OsZEAXNLell Loi=ExH
496,400& * 5ha 2,482
= 1,241
= 372
i 869
405 KHaHE S| 1,501 751 750
= 750
& 225
= 526
01 XML EFHSHI 1,501 751 750
OQUSEFAE s8d 37| 750,000& = 1CH 750
= 375
& 112
i 263
OJIHS 751,000& * 1CH 751
= 375
& 113
i 263
=548 AH LA 80,573 7,024 73,549
= 38,980
& 10,678
= 30,915
101 el t| 33,086 0 33,086
= 16,543
L= 4,963
= 11,580
10 JIZtHZ2Z2NASEs 33,086 0 33,086
OO0l & 2 H| 16,543,000 * 20! 33,086
= 16,543
& 4,963
o 11,580
201 Let3| 13,618 0 13,618




SN AEEAD
HME: A ol X
ool A ELA ol xe)
x 5 - A
SM-EH . C(BH) - HRAY - B2 Ao Gil it o 2
— T

H

177

201 st2 | 2 6.809
= 2,043
2 4,766
01 AFRZelt] 13,618 13,618
Oxtgrel~ 730,008 * 122 8.760
2 4,380
< 1,314
2 3,066
Os=H 300,008 * 122 3.600
2 1,800
< 540
2 1,260
OQFIP @ HYE 629,000¢ * 29 1,258
2 629
< 189
2 440
206 THEH| 6.000 6,000
T 6,000 6.000
OSZ HELHES AHTY
20,000% * 60 * 53] 6,000
401 Al&HI L = Y| 27,869 20,845
2 15,628
= 3,672
2 8,569
01 Al 27,869 20,845
OXI & H (L2l L2Y )
121,800 * 5ha 609
2 315
< 88
2 206
OSZYMOIEIHE) 6.821% « 95ha 648
2 518
< 39
2 of
OXI &R (DI EF3H ) 121,909 * 10ha 1,219
2 630




SN AREAD

mm: el WX
Crolt AbelHH o SR (cro): &2
S EHB . (E) - MRAY - B 0 At ot b HRZ2
= 212
OXAH(IIEFHDH) 1,953,307& * 13ha 25,393
= 14,165
T 3,368
2 7,860
PEAULUREEUH 9,464 28,392 A 18,928
= 4,732
= 1,420
iy 3,312
401 Al&EHIEE00H] 9,464 28,392 A 18,928
= 4,730
= 1,420
2 3,312
01 Al&H| 9,464 28,392 A 18,928
ORHAURE=UH 9,464,000& * 1ha 9,464
= 4,732
< 1,420
o 3,312
2z &=2A4X] 3,500 5,250 A1,750
= 1,050
= 2,450
401 AlEHIL20H) 3,500 5,250 A1,750
& 1,050
ey 2,450
01 Al&H| 3,500 5,250 N 1,750
ONEam=A(METEI)EX
3,500& * 1,000% 3,500
< 1,050
o 2,450
AU 22 4,101 47,235 N43,134
= 2,871
< 369
iy 861
AUSMHESY ol DAFSHIA 4,101 7,920 N 3,819
= 2,871
= 369




SN NS

mm: el WX
oot AL Bl (cro: &
S EHB . (E) - MRAY - B 0 At ot b HRZ2
AUSTHEES 0l DASHA = 861
401 AlEHILR b 4,101 7,920 £3,819
= 2,871
< 369
= 861
01 Al&H] 4,101 7,920 N 3,819
OALSTHHES TASHH
17,830.4% * 2302 4,101
= 2,871
= 369
= 861
Atel KRS 6,804,145 5,939, 120 865,025
= 1,839,243
rag 827,000
< 671,054
iy 3,466,848
T A 433,441 459,136 N25,695
= 223,064
& 59,522
iy 150,855
A= E 46,499 41,437 5,062
= 30,837
= 4,699
iy 10,963
401 Al&HIEE0iH] 46,499 41,437 5,062
2 30,837
= 4,699
= 10,963
01 Al&H| 46,499 40,990 5,509
OZ M=t 1,667,900 * 10ha 16,679
= 10,017
< 1,999
2 4,663
Ox=4d3 M= 2,982,000& * 10ha 29,820
= 20,820
< 2,700




S AEEAD
M Mg st
©9 XA LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
i 6,300
MEE2EE 11,927 11,011 916
= 8,693
& 970
= 2,264
401 Al&HIZ =204 11,927 11,011 916
= 8,693
= 970
i 2,264
01 Al&HI 11,927 10,893 1,034
OMEF=E 795,133& * 15ha 11,927
= 8,693
= 970
i 2,264
REEANZE 35,520 16,596 18,924
= 27,627
L= 2,368
= 5,525
402 BIZ2HX =0l 35,520 16,457 19,063
= 27,627
& 2,368
= 5,525
01 UAXR=2EX 35,520 16,457 19,063
ORFEEXNXZE 2,537,1423 = 14ha 35,520
= 27,627
& 2,368
= 5,525
ZURZIE 90,902 144,102 253,200
= 36,871
L= 16,209
i 37,822
401 AIEHIZL 2O 90,902 144,102 253,200
= 36,871
L= 16,209
i 37,822




SN AYEAD
=L

Crol: T2 A CLEE
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 Al&HI 90,902 143,324 AD2,422
OZ2URxE 5,993,466& =* 15ha 89,902
= 36,371
& 16,059
i 37,472
O2UREIEXNEHl 100,000& =* 10ha 1,000
= 500
= 150
i 350
MEAEIA Z2AIE 233,349 198,346 35,003
= 116,675
& 35,002
= 81,672
401 Al &HIZ20HYI 233,349 198, 346 35,003
= 116,675
= 35,002
= 81,672
01 A&l 231,669 196,204 35,465
oZ2uUuss9xd 11,583,450& = 20ha 231,669
= 115,835
& 34,750
i 81,084
03 Al&=C0HI 1,680 2,142 AN462
O2USZAXUX TN 84,0002 * 20ha 1,680
= 840
& 252
i 588
TEAEH - 2el 2,392 2,617 A225
= 1,675
& 215
= 502
401 A &HIZR0YI 2,392 2,617 A225
= 1,675
& 215
= 502
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2,392

VaNeY4e)

VaNeY4e)

A575

400

400
400

H3r
uiled!
pak=

1,457

1,457

1,457

7,500
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4,070

3,070
2,820

250

1,000
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1,675
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882
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fir
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iy
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mr

59
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7,500
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4,470

3,470
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1,220

420

800
2,000

2,000

250

250

1,000

Al I

01

239,200 = 10ha

&l

w0
KA

A&HI LU

401

Al bl

01

2l « 5ha

=

o

176,400

i

ANEBIL2U8I
A& I

401

01

500,000& = 15ha

2tel

ok

ATHXL A

0
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JIAr
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00
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70,000

5,000& = 160K
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H

171

SA - EE S (3H) Ay Ao gggf; HRS2
10 SHAIAHIEAZ 1,000 1,000 0
OAMSZSHAF =S| 5,000& * 2009l 1,000
=Jt3R 0| 2,519,712 2,818,197 N 298,485
= 1,404,002
= 290,603
iy 825,107
At E F A = 50,760 49,680 1,080
= 25,380
= 7,614
iy 17,766
401 AIEHIZL 204 50,760 49,680 1,080
= 25,380
= 7,614
iy 17,766
01 Al&H| 50,760 49,680 1,080
SIEEL=S NP 10,800 *4, 700ha 50,760
= 25,380
= 7,614
= 17,766
=J31D| 1,619,681 1,736,887 A 117,206
= 884,841
= 212,472
iy 522,368
101 Q14| 26,389 25,000 1,389
= 2,209
= 619
o 23,561
10 JIZHZ22XNEES 26,389 25,000 1,389
ORHIZE0I 2| 52,7782 * 100 * 50 26,389
2 2,200
== 619
o 23,561
201 LBtEAH| 5,459 5,180 279
= 610




SA MESMD
M M KR8
il

SRR (et @
_ _ - HEc
SN FHB . HA(E) - NRAY - BH= Oil A o il ot o Hnz2t

201 Ypre oy = 4,678

02 B2 5,459 5,180 279
OFHIZER NI 10,9182 * 1021 * 50 5,459
= 610
< 171
= 4,678

401 ANEHIL20H] 1,567,833 1,706,707 A 118,874
= 882,022
= 211,682
z 494,129

01 AlZH| 1,632,117 1,619,893 87,776
O[Al & Hl] 1,532,117
Ot AAI&N Y] 79,8088 * 1,040 83,001
= 46,115
< 11,056
= 25,830
0= It ALY 1,393,3802 * 1,040 1,449,116
= 804,952
< 193,205
= 450,959

02 22l 50,001 54,000 ~3,999
O=JtpII2el 48,0772 * 1,040 50,001
= 27,780
= 6,660
2 15,561

03 Al& SO 5,715 32,814 A27,099
CEPIE-BIPNI=T| 5,49520 * 1,040 5,715
= 3,175
< 761
= 1,779

TR 572,650 827,501 A254,851
= 346,902
= 66,516
z 159,232

101 QI244| 470,063 724,657 254,504




SA MESMD
M M KR8
il

SRR (et @
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
101 Q12| = 282,038
& 55,693
= 132,332
10 JIZtHZ22NSEx 470,063 724,657 N 254,504
O3S 34tEIIRI] 21|
51,332.05& » 621 » 260 80,078
= 48,047
= 9,088
[ 22,943
OLt ZALE Q1A |
60,189.283 » 201 » 280 33,706
= 20,224
= 3,852
i 9,630
O4td oI A =& &= 12|
39,151.53& * 350! * 260 356,279
= 213,767
< 42,753
i 99,759
201 B2 I 40,752 79,444 A 38,692
= 24,451
L= 4,890
i 11,411
01 AtR2teld 24,452 0 24,452
OLHHIOIQIHA =&ES AtR2teld
24,452 ,000& * 14l 24,452
= 14,671
< 2,934
fiis 6,847
02 2323l 16,300 79,444 AB3,144
OLEHI0I2 A =E8EE8 S22l
652,000 * 2558 16,300
= 9,780
< 1,956
fia 4,564
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= 14,760
& 864
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OSZ4EIHRI] R0l
12,755,000 = 14 12,755
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= 1,469
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405 AHAHE SH 14,000 9,000 5,000
= 8,400
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O&tdH0I20 A =& &I
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QAR 5245101 24| 11,000,000%! * 159! 165,000
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2 791
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10 s#AAHBAZ 524 0 524
O%LXTAIY DS 100,0002 = 19! 100
=2 60
— 40
O=2LZXA2 DS 424,000 * 19! 424
2 255
— 169
HHSTHZ ALK A 1,575 6,075 4,500
2 1,125
2 450
402 RIZEXEOIA 1,575 6,075 4,500
2 1,125
2 450
01 PIZIX=EX 1,575 6,075 A4,500
OLMSM2AI LKA 315,0009! * 5ha 1,575
=2 1,125
2 450
AT E B ALY 19,030 18,000 1,030
2 6,430
= 1,620
2 10,980
201 Yer2 A 1,030 0 1,030
2 1,030
01 A2l 1,030 0 1,030
OSHZ = 1,030,0002 * 1CH 1,030
2 1,030
405 XHAHE S 18,000 18,000 0
2 5,400
= 1,620
2 10,980
01 NALSEFHSH 18,000 18,000 0
OXlel®2 A 18,000,0002 * 1CH 18,000
2 5,400
= 1,620
— 10,980
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0 & 24
I RIING U & 23,810 25,200 21,390
& 2,381
i 21,429
402 QIEGE01M 23,810 0 23,810
e 2,381
= 21,429
01 Y2tR=Ex 23,810 0 23,810
O£NPIINAU HBASKHE E4
476,200& * 50ha 23,810
= 2,381
i 21,429
AR 22| KT & 13,628 800 12,828
= 8,177
i 5,451
101 el 11,500 0 11,500
= 6,900
= 4,600
10 JIZHNIZ2Z2NSE 11,500 0 11,500
OUXFEBRLEE @
46,0002 » 121 = 103 = 25 11,500
= 6,900
i 4,600
301 erEd=z 2,128 0 2,128
= 1,277
= 851
10 BAIAHIENS 2,128 0 2,128
OUXHBRLIHE
2,028,000& = 12! 2,028
= 1,217
i 811
OMXEEZLIHY =d 100,000& «"1¢l 100
= 60
o 40
NEE-Fr S 629,029 682,409 A53,380
= 16,000
2 613,029
2s+ZH| 56,000 32,000 24,000
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2 40,000
401 AlEHI L0 56,000 32,000 24,000
= 16,000
2 40,000
01 Al&H] 55,500 32,000 23,500
OlAI&HI] 55,500
RS LIICES 3,958,3338 * 122 47,500
= 14,250
2 33,250
SRR TN EIGES
4,000,008 * 22 8,000
= 1,600
2 6,400
03 Al&=CH] 500 0 500
SINEELTT 500
SRR P I I CES
55,500,0002 * 0.90% 500
= 150
2 350
o1 B E )| 82,529 102,529 20,000
201 Ler2 Yyl 2,529 2,529 0
01 AR 22l 1,000 1,000 0
OEemH 3 S234)
5,002 * 501 * 402 1,000
;2 ZZ2Y| 1,529 1,529 0
Olxter - detHl] 1,529
OUTHIY U RR0U LR
1,383% * 2504 * 4.2 1,529
401 AlEHIL =20 80,000 100,000 20,000
01 Al&d] 80,000 100,000 20,000
OoiEH 24|
180,000 * 222.22kn * 23] 80,000
LBREY 191,400 174,000 17,400
201 syl 400 0 400
;2 Tzl 400 0 400
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OAzaae A2ERY 100,0002 = 4I4 A 400
401 A AHILE20HY] 191,000 174,000 17,000
01 Al&H] 191,000 174,000 17,000
Qg 32(aH2)AZBRXTH
50,000& = 500m* 25,000
Oge gl2(0|&s) AZ28xH
50,000& = 800m 40,000
OGU&R L&A NHE| AZ/AXH
50,000 * 400m = 1JH A 20,000
OM=EATHA(oldH) A3RXH
50,000& * 400m" = 1JHA 20,000
OFABIAL 4L HE(EHIDIIS)
50,000& = 10Q1 %= 7 x 43| 14,000
Onle T222 FHH|(MaEx EHDIS
1,000,000& * 55 * 23| 10,000
OZAN 28 A33xH
50,000& = 600m" = 1JHA 30,000
O8=E Ol (PEE) A2EXH
50,000& = 400m* * 1J{ 2 20,000
OA23d =4 & AMEAY
300,000,000& * 4% 12,000
THAZEH A 80,000 77,800 2,200
206 HZHI 40,000 40,000 0
01 MZHl 40,000 40,000 0
Okzd 433 2 B=0
1,000& * 1,000&2 * 40012 40,000
401 AIEHIZL =204 40,000 37,800 2,200
01 Al&H| 40,000 37,800 2,200
O&zdH A~2=53 ZAH 20,000,000& * 14 20,000
OE2H AZ22 HUI(EHIIIS)
20,000,000& = 14 20,000
Jt23tE Al 3,080 33,080 30,000
401 AIEHIZL204H] 3,080 3,080 0
01 Al&H| 3,080 3,080 0
OJIZ23E HHIAIL 3,080,000 * 14 3,080
2ttt 22X 4 72,020 42,000 30,020
401 Al&EHILE204H] 72,020 42,000 30,020
01 Al&HI 72,020 42,000 30,020
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O)l =28 2R (&S X4
2,0008 * 15,000 30,000
CEYE R 50,000 0 50,000
401 A&HIL2HY] 50,000 0 50,000
01 A& 50,000 0 50,000
OZ28 HHX 2BEH
20,0008 * 2,500m 50,000
YOISIEN BESHX 18,000 18,000 0
401 N&HIYL2HY] 18,000 0 18,000
04 BAIBRTAIZH] 18,000 0 18,000
ONZZBEY ZEMT
18,000,008 * 14! 18,000
2z2sd EYE20 H 40,000 40,000 0
401 AN&HIL2HY] 40,000 40,000 0
01 Al&H 40,000 40,000 0
O=g254 Y=l
25,0008 * 1,600 40,000
SE AT 6,000 6,000 0
401 A&HIL2HY] 6,000 6,000 0
01 A& 6,000 6,000 0
Ont2sl B =8 SE2 ATAI
400,0008 * 152 6,000
2251 R| 30,000 10,000 20,000
401 AN&HIYL2HY] 30,000 10,000 20,000
01 A& 30,000 10,000 20,000
OE2H 223t R B/
1,002 * 10,0002 10,000
ORZs BLXH 50,0008 * 400 20,000
SAEZS - B 2,063,963 1,397,628 666,335
= 8,177
7 627,000
= 214,929
z 1,213,857
ENEESE 867,628 830,012 37,616
= 8,177
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CAN=ExS z 427,000
< 128,100
= 304,351
101 Q14| 13,628 14,012 1384
= 8,177
= 5,451
10 JIZLMZ2sSES 13,628 14,012 N384
OZASsIE2A(EX) 13,628,000 * 19! 13,628
= 8,177
z 5,451
401 Al&H 220 854,000 816,000 38,000
z 427,000
< 128,100
z 298,900
01 Al&t] 848,620 810,300 38,320
OLlAl & ] 848,620
OZAEXH(EX)
823,250,000 * 144 823,250
z 411,625
= 123,488
z 288,137
OSA=ZH SAHHI(ER)
848,494,9492! « 2.99% 25,370
z 12,685
[ 3,805
2 8,880
03 Al&=0idl 5,380 5,700 A320
OlAN& 20l ] 5,380
OZAEEZSEXITOHI(04H])
853,968,200 * 0.63% 5,380
z 2,690
< 807
z 1,883
24T 796,788 413,200 383,588
Fas 200,000
[ 60,000
= 536,788
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401 AIEHIZ=0Y] 796,788 413,200 383,588
s 200,000
S 60,000
s 536,788
01 Al&HI 792,588 413,200 379,388
O[Al & Hl] 792,588
081954 HETE J2s HUS AT
A 200,000& = 100= 20,000
OROUHASHI-EIISMEIZ U
ALALY 500,000& = 100= 50,000
OFYDMEH-STAN HUSAT AR
200,000& = 1002 20,000
024 2A(FY L WE)
200,000& * 100= 20,000
OWBM7Z b2 (ZUR) ATAIY
50,0002 * 400== 20,000
ONZ=ATH(ER) 662,588,000& * 14 662,588
[ 198,740
< 59,412
o 404,436
03 A& =01 4,200 0 4,200
O 24 ATHT & 016 (2 %)
280,000 = 15km 4,200
[ 1,260
S 588
[ia 2,352
Jt2 =2t 130,947 124,416 6,531
< 2,529
i 128,418
201 ZEr=23H] 2,360 2,366 AB
02 =224 2,360 2,366 A6
O[Xtg - detyl] 2,360
oNE4FH BRH ML
1,383 * 120H = 100 £ 1,660
02 4BH =4 50,0002 * 7CH * 23] 700
202 OdH 2,000 2,000 0
01 SLHAHI 2,000 2,000 0
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20,0008 = 291 = 50 2,000
401 AlSHI LY 126,587 120,050 6,537
[= 2,529
= 124,058
01 Al&H] 126,587 120,050 6,537
ONZA (L) WO H
3,000 * 10,0003 30,000
ONE(AUR)HUN(EXEFS)
25,0002 * 8003 20,000
OMNZAE(HEUR)HE(BXNEXES)
6,000 * 4,000 24,000
OSHAIJIX JI2LFHH| (&S ANE,EX)
15,000,000 * 1JHA 15,000
081954 D24 0l& | 150,000 * 823 12,300
OSMU= IR 25,287,000 * 14! 25,287
[= 2,529
= 22,758
Leed 4x 29 268,600 30,000 238,600
[ 24,300
= 244,300
201 LEr2AH| 600 0 600
02 2229 600 0 600
o2y g &8IIe3
50,0002 * 122 600
401 Al&HILLCHY| 268,000 30,000 238,000
[= 24,300
= 243,700
01 Al&H] 268,000 30,000 238,000
OI[Al & Hl] 268,000
ORXHEEHHI 1,000 = 25,000€ 25,000
ousd2d(2xX) 486,000 * 5003 243,000
= 24,300
= 218,700
MRS UM 1,158,000 581,750 576,250
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2 200,000
< 60.000
2 140,000
201 NEHL20 400,000 581,750 A 181,750
2 200,000
< 60,000
2 140,000
01 AZ0] 397,120 575,300 A 178, 180
OLAl & ] 397,120
ONYBIIM(2X)
383,560,0008 * 17} 4 383,560
2 191,780
& 57,534
z 134,246
PP TIGES 400,000,008 * 3.39% 13,560
2 6,780
< 2,034
2 4,746
03 AlZRGH 2,880 6,450 A3,570
SINEETT 2,880
ONBSHESTICOHI(2XE)
400,000,008 * 0.72% 2,880
2 1,440
c 432
2 1,008
XeolExs 558,000 0 558,000
= 104,000
2 454,000
201 NEHLR0y 558,000 0 558,000
= 104,000
2 454,000
01 AZ0] 558,000 0 558,000
OLAl & ] 558,000
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oxgel & EX0HL
10,000 * 30,000 300,000
OMBIEEA AFRAH(2X)
208,000,000 * 14! 208,000
2 104,000
2 104,000
03 AlE=0iH| 0 0 0
OLAE =8I 0
MElE TA 200,000 0 200,000
= 100,000
< 30,000
2 70,000
401 AEH2LEHH 200,000 0 200,000
2 100,000
= 30,000
2 70.000
0 AT 200,000 0 200,000
OFENZ2=(EX)
200,000,000 * 14! 200,000
2 100,000
< 30,000
2 70.000
22| (A= AT 144,652 122,450 20,202
ol 2 o] 93,776 73.690 20,086
MEEATD ooy 93,776 73.690 20,086
101 o2 89,576 69,490 20,086
2 +go 78.646 69,490 9.156
ONEUTHES SU20sy
55,0908 * 701 * 432 16,853
ONMZYT SHHMES Synoag
56,1750 * 201 x 102 * 52 » 11S @ 61,793
08 JIEIEEA 10,930 0 10,930
OZol40| AYBE B2
400,0002 * 201 « 122 9.600
Oxpooag 55,3808 * 201 * 128 1,330
203 oo=AY| 4.200 4,200 0
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